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SECTION-I

GG
MISTRY

Max. Marks : 3(

Time : 3 Hours

Wiferss Td v@ad
PHYSICS AND CHE
WA 36 atfiream i : 300

yehIvITee At &1 9 o fpar smar e ? - 1
(1) uq st
(2) waHF
(3) WU
@) fogmed
Tehicren Meat Qishaam @it foram it oft ? 2.
(1) T=@
(2) A
(3) TWHS °
@) AT .
gffET TR ? | 3.
(1) mﬁammﬁww
) ﬁﬁ?uwa'lﬁﬂzuumchwqd
(3) %{ﬁwﬁaﬁﬁqu‘(sw&w

AR
4) ﬁ?{ﬁWﬁﬁﬂﬁ*HWBNMd

YTcHe 3
3THTTETSh hl TRl \ 4.
(1) M % 56 % 1 g geil € |
) w%ammaﬁé?muaa?ﬁ% |
(3) ST & I g Vg FgA ¢ |
(4) 3T & WA 81 § FAR Fedl € |
g gVt & fore g g T 8 2 s.
(1) MoL'T! 2 M'LIT!
@¢) MIL2T!  @4) M!'L2T?
FfeR ol T 1 R & 7 6.
(1) D.C.®fFe
(2) A.C.gfwe-
(3) gk
(4) méﬁzqﬁ

photoclectric cell is used in
(1) Br idge rectifier

(2) Amplifier

(3) gmoke detector

4) Electric bell.

Natural Radioactivity was discovered

by .

(1) Rontgen

(2) Becquerel

(3) Rutherford .
4) Madam Curie

‘Thermions are
(1) positive ions possessing thermal

energy
(2) negative 1ons possessmg thermal
energy
(3) electrons emitted by a material on
heating it

(4) positive ions emitted by a
material on- heatlng it

Conductivity of a semiconductor
(1) always decreases with increase in
temperature

(2) increases with increase In its

temperature

(3) always increases with addition of
impurity

(4) always decreases with.additionof
impurity

The dimensional formula for angular
momentum is

(1) MOLLT @) M!LIT
) MILET 4 M'L2T?

A capacitor works on

(1) D.C. circuits

(2) A.C. circuits

3) - Both the circuits ks
(4) None of these '

Group-E




10.

11.

12.

SO AT W E e § R

JUTTAT ol TG R Tear & 2
(1) THa¥E | (2) %
(3) W (4) TF TIAE

fomr =t 5 wrEr 7 A R Wt S

& o @ Gefua ¥ |

frifepe & @ B @1 A S A
AT &1 & 2

(1) BRTA -

2) weEH

(3)

4 @a@)sH

feor 310] & & UTAIY] FT AT HIA

TOTSE(! ohT ST BICTT & 2

(1) H, (2) CH,
3) CCl, (4) CHCI,
4,184 STt fereh SRR &Y & ?

(1) 1cal (2) 2cal
(3) 3cal (4) 4cal

C(s) + O,(g) = CO,(g) 3ufshar & fere,
firad <9 (AH) 9 WO W A SAfsear
_394 kJ & | fraa@ e (AE) W
afufsrar gt
(1) +394KkJ
(3) -394KkJ [0))

2) +39.4K]
~39.4KkJ

Group-E

10.

11.

12.

The thermodynamic process in which
volume of the system remains constant
is called

(1) isothermal ()
(3) isobaric 4

adiabatic

1sochoric

Name the branch of science: which
deals with the study of sound and
sound waves ‘

(1) aeronautics
(2) acoustics
(3) aerostatics

(4) none of these

Which of these foods is not energy-
giving ?

(1) Margarine

(2) Mushrooms

(3) Sugar

(4) (2)and (3) both

In which molecule, valence shell of
each atom has octet of electrons ?

(1) H, (2) CH,

@) ccl, (4) CHCI

4.184 Joule is equal to
(1) 1cal (2)
(3) 3cal )

2 cal
4 cal

For a reaction C(s) + O,(g) = CO4(g),

heat of reaction at constant pressure
(AH) and temperature is -394 kJ. Its
heat of reaction at constant volume
(AE) will be

(1) +39%4KkJ
3) -394k “4)

‘2 +39.4K
~39.4kJ

+



13.

14.

1S.

16.

17.

18.

2C(s) + 3H,(g) = C,H, (g) AH = -90 kJ

fen & 115w O ) v o g
T 'im

(1) -90kJ 2)  +90kl

(3) -45kJ (4)  +45k/
N,O (g) & NO (g) & fmior #t weifeqar
82 3 90 kI mol™! & 12N,0(g) + O,(g)
— 4NO(g) 3tfvfsrar =t et &

(1) 8k 2) -16kJ

(3) 88KkJ 4) 196kJ -

T g (B) e @ e
RS [ (Z) | et & 2
(1) Z=Ex96500

2) ‘E=gcna

) L

(4) E=Zx96500

[ WA T Hafid w9 2

(1) sFaada '

(2) AN qA

(3) #RIA

(4) FetHam qA |

et & OH~ 3T FiZ0T A a1 € et
pH=5%? |

1) 1x10°M  (2) 1x10710M
(3) 1x10°M 4) “1x101M

wfeRiges gier i wfaRus frar fhaes sror
e g ? :
(1) Haet TRTeT Serar

(2) FaeT AR &R

(3) SRR ST o TR S

(4) 1 IRRIT 3T 7 SR

13.

14.

15.

16.

17.

18.

(3) 88kJ (4)

() 1x10°°M

Given 2C(s) * 3H,(8) = C2H6 ®
_ _90 kJ. Heat liberated i,

AH ‘ '
(ormation of 15 gm of ethane will be
(1) ~90kl (2) +90kJ
(3) ~45k 4)  +45K)

The enthalpies of formation of N0 (g)
and NO (g) are 82 and 90 kJ mol!,
The enthalpy of the reaction
IN,0(g) + O5(8) = ANO@) s

196 kJ

- Chemical équivalent (E) is related to
electro-chemical ‘equivalent (Z) by

relation

(1) Z=E x 96500
oL
@ E=96500

v
() 2=96500

(4) E=2Zx96500

Dry cell is a modified version of
(1) Daniel cell

(2) Leclanche cell

(3) Car battery

4 Cadmium cell

The OH~ion concentration of solution
whose pH =5 is

\

@ 1x10°M
(B) 1x10°M  (@4) 1x10M

Buffer action of buffer soluﬁon is due
to

(1) Only reserved acidit

(2)  Only reserved a]kani)iity

(3') ‘Both  reserved acidity and
alkanility

(4) Neither reserved acidity nor
reserved alkanility

Group-E



19, S STRAT T HT FT L9

20.

21,

22.

(1) CH;COOH > CICH,COOH >
HCOOH

(2) HCOOH >
CH,COOH

CICH,COOH >

(3) CICH,COOH > HCOOH >

CH,COOH

(4) HCOOH > CH,COOH >
CICH,COOH ‘

Wﬁwmﬁ', ] atm, 1.5 atm, 2 atm &
2.5 atm W 50 gm HEH1 W ARSSH 19

et & St ¥ | 7w stfereiwoT v

el g ?
(1) latm‘ (2) 1l.5atm

(3) '2atm (4) 2.5atm

(1) fasiasa
(2) St
(3) s foufate

@) S frefa s

e 1 ¥R amu A fFaT € 2

(1) 1.0072
@2) 10.072
3) 1072
@ 1.72

Group-E

19.

20.

o B

22,

(1) latm 2)

Order of increasing acidity is

(1) CH,;COOH > CICH,COOH >
HCOOH

(2) HCOOH > (ICH,COOH >
CH,COOH

(3) CICH,COOH >
CH,COOH

HCOOH >

(4) HCOOH > CH,COOH >
CICH,COOH

In an isothermal process, nitrogen gas

- is adsorbed on 50 gms of mica at 1 atm.

1.5 atm, 2 atm and 2.5 atm. The

adsorption will be maximum at
1.5 atm

(3) 2atm (4) 2.5atm

Emulsion - is. a colloidal -system
containing

(1) Miscible liquids _ .
(2) Immiscible liquids
(3) Gasdispersed in liquid

| (4) Liquid dispersed in solid

Mass of proton in amu is

(1) 1.0072

‘@ 10072
3 1072

@ 172



23.

24.

25.

26.

27.

et o F g ¥ 23.

(1) 3T Y1 A F F707 WR
(2) THR YAREE OV 1-gfe 4R

(3) THR FOTHS ARV T TG 4R

(4) T FOTHF 39 3R 1-gfe WK

N+ H — 015 + x A sfifier © 24,

oy JEare ?

(1) ¢ ) s H

@) e (4) Tl
ﬂ%ﬂﬁﬁ‘ﬁﬁ%ﬁﬁﬂﬁf@ﬂm% 25.
(1) He ' 2) Ne

(3) Ar (4) Kr

Sfh 27TES & ity oiet BT € | 26.
(1) ow=itg -

() &g

(3) /A

(4) 3TAlT a1 &R
aﬁaﬁ%mamwwﬁw%?. 27.

(1) e s =8 e e
Q) e smey @ sifea v
(3) . &fioT 3T TRATY] ATHHOT
(4) Wawaqwqeméw

(1) ol

Beta particles have

(1) Unit positive
negligible mass ‘
Unit positive charge and 1-unjt

charge  ang

2)

mass

(3) Unit negative ~ charge  and
negligible mass

(4) Unit negative charge and 1-unit
mass

What is x in nuclear reaction

NM+ H' - 0P +x

e L (4)  y-rays

The last member of third row element

1S
(1) He (2) Ne
@) Ar i : (4) Kr

Aqueous solution of basic oxide is
(1) Acidic

(2) Alkaline

(3) Neutral

(4) Acidic or alkaline

Malleability and ductility of metals is

due to

(1) Directional character of metallic

bond

(2) Non-directional  character of
metallic bond

(3) Weak interatomic attraction
(4)  Strong interatomic attraction

Group-E



28.

29.

30.

31.-

32.

33.

34,

?ﬂm%?«r‘ra-—ram%%mmmwamﬁm
?

(1) 3maem () ==

(3) FRH (@) WM
Tl I el B A R s % o 39
R frgent o forar s & 9

(1) fram

(2) TwFAE

(3) TR

(4) AR TREART

femr s frad s AT AT € ?
(1) owr 2) A
(3) udkNm (4) A=t

YTq & T Fafets @ s ifites s
FEATE ?

(1) faferere () faferee
() e (4) WERE
TR T TS G F1E ?

(1) Ca0O,3MgO, SiO,

(2) Ca0, 3MgO, 2Si0,

(3) CaO, 3MgO, 3Si0,
(4) CaO,3MgO, 4Si0,

aifits CH,~CHBr—CH, % IUPAC ™

FE?

(1) n-NIEHA FAES
(2) STEEMITEE FHES
(3) 1smiEeE
(4) 2-St e

e 8 @ P A A gE IR E?

Group-E

28.

29.

30.

31.

32.

33.

34.

Which “halogen is solid at room
temperature ?

(1) Todine (2)
(3) Chlorine 4)

Bromine

Fluorine

To make cooking utensil non-stick. it is
coated with

(1) Freon

(2) Teflon

(3) Fluorine :

(4) Oxygen difluorine

‘Tinchere iodine is a solution of iodine
in

(1) Water (2) Ethanol
(3) Acetone (4)  Benzene

The compound formed by silicon with
metals is called

(1) Silicate (2)
(3) Silicone (4)

Silicide
Metallide

The chemical formula of asbestos is
(1) Ca0,3MgO, Si0,

(2) CaO,3MgO, 2Si0,

(3) CaO, 3MgO, 3Si0,

(4) Ca0O,3MgO0, 4Si0,

The TUPAC name of the compound
CH,-CHBr—CH, is

(1)‘ n-propyl. bromide

(2) Isopropyl bromide

(3) 1-bromo propane

(4) 2-bromo propane

Which of the following gas is known as -
war-gas ?

(1) Methane

(2) Thionyl chloride
(3) Phosphene

(4) Phosgene



35,

37.

38.

- 39,

u.c.m. ® 7 &1 a7 g el AT v
(1) IO I H W

(2) o9 e @ & gy

3) &

4 =

et zrar % i @ iy wR At ) et

R @ & i o O e age § @ife

(1) TR AT AT TOAHNT o7
TIH AR | -

2) fet ot fag W I 1 ROT I
Be |

(3) ferat st fife W 1o o7 So% AR @
AT elane | ‘

4) et off fig W S ot FRatferet ot
TAF A E |

fereh v o1 g et ok R PR BT 2
(1) had 39F 4R

(2)  IqF R T Frear

(3) IS R T 3T W HR HT fqeR0r
(4) 3EFIRIAT

g SHM 1 Hiehor =1 & ?

(1), F=ky'::" ) F=ma
® F=%x @ F=kx
gfdaer & a1 8

(1) Wﬂﬁwaaaqﬁzgﬁziah

(2) YRARY J A & AT T UG
(3) VIR 9 TS T HIGih ST
(4) R v wet wf g

85, Vclocity of a particle

36.

37

38.

39.

in wem, g

directed

() 1t
(2) along (he tangent to the circle

3) horizontally

wards the centre of the circle

4) vertically

bodies of different  masseg
om the top of a tower reach
y because

Two

dropped Ir

the ground simultaneousl

(1) gravitational force of attraction
acting upon both is same.

(2) acceleration of both at any point

is same. .

(3) gravitational force on a body is
independent of its mass.

(4) potential energy of both is same
at any point.

Moment of inertia of a body depends
upon 2

(1) its mass only

(2) its mass and radius

. (3) its mass and distribution of mass

around the axis
(4) itsmass and'velocity

. The equation of linear SHM is

{1y Bl 2) F=ma
() F=«x . @ F=k¥

Stress is defined as

(I) external deforming force per unit
area :

(2)  product of modulus of elasticit‘y
and strain - ‘

(3) ratio of modulus of elasticity
i of elasticity to

(4) internal restori 2 -
oring force per
area g per unit

Group-E
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43.

44.
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(1) ¥ 9w aary |
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"(3) wwafeTamy

(4) eI |
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(1) a3y

Q) FHadzyg

(3) Faag
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(1) 15 =1 %9 sram =Fem arare |
(2) e+ H97 amam wgd s e E |
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40. The force due to surface tension of a

liquid acts

(1) tangential to the surface

(2) along the normal to the surface
(3) horizontally always

(4) vertically always

Transverse wave can propagate through

(I) solids only

(2) liquids only

(3) gases only

4) solids and on the surface ofa
liquid

During resonance

(1) amplitude of vibration of the
body is minimum

(2) amplitude of vibration of the
body is very high

(3) frequency of vibration of the
body is very high

(4) frequency of vibration of the

body is minimum
4

External specific latent heat of a
substance is :

(1) always positive
(2) always negative

(3) negative if the substance expands
. on changing its state

(4) negative if the substance
contracts on changing its state

Emissive power of a body is
(1) the energy emitted by the body

(2) the energy emitted per unit time
" by the body

3) the energy emitted per unit time
( gy p
per unit surface area by the body -

(4) ratio of the energy emitted to the
- energy absorbed by the body

+
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47.

48.

49.

50.
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 Hfew |
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45‘

40.

47

48,

49.

50.

A system is said 10 bL in
thermodynamic cquilibrium iffitisin
(1), thermal cquilihriun‘1 '(m'ly
(2) mechanical .c.qunlrhrlum
(hermal equilibrium only
mechanical cquilibrium, thermal
and chemical

and

3)

equilibrium
cquilibrium
4) mechanical cquilibrlum only

Amplitude ol a wave determiney
(1) the frequency of the wave
(2) the wavelength of the wave
(3) the intensity of the wave
(4) the speed of the wave

Band width is the width of

(1) asingle bright band

(2) asingle dark band
(3) a bright band and a dark band

taken together

(4) half of the total width of a bright

band and a dark band taken
together

Dielectric constant of a medium is also

known as

(1) Relative permeability

(2) Permeability i

(3) Permittivity

(4) Relative permittivity

Magnetic moment of each atom of a
diamagnetic material is

(I) positive )
(3) zero “4)

negative

very high.

Fleming’s right hand rule is applied for

(1) get_ting the direction of force
acting on a conductor in a

~ magnetic field |

(2) getting the direction of induced
current in a conductor,

(3) getting the direction of eddy
currents in a conductor.

4) gelti.ng the direction of motion of
a coil in a magnetic field.

Group-E
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fasre g==
TSIl F W | T F B e G 51 @rmoa%% |
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IMPORTANT NOTICE

There are two sets of Section-II. Each set has question numbered
51 to 100. ;

One of the sets is for Biology students and the other one is for Mathematics
students. '

Students have not to solve both the sets under this Section in any
circumstances. They have to choose only one of them according to
their choice.

OMR chart will show two separate blocks for Biology and Mathematics.
The examinees who opt Biology will fill up the Biology block by HB
pencil and those who opt Mathematics will fill up the Mathematics block
by HB pencil and then attempt the questions of the set of their choice.

11



qug-1|
SECTION-II

3.

54.

55.

56.

57.

e fawm
BIOLOGY
Fegekar § T TR IR wred e 1. In Utriculariu the bladders are
FYTROT & ? modified '
x aves 2) Stems
1) ufwar 0) (1) Leaves ( .
t3; S 24; g (3) Roots (4) Flowers.
T | shiae dferalt S EE At ¥ 52. Number of cranial nerves in man are
() 313%m (1) 31 pairs
(2) 10g% (2) 10 pairs
3) 133 (3) 13 pairs
4) 12gm (4) 12 pairs
=1 1 @ 9 JI=Ig O TSI R 7 '53. Which of the following is an example
(1) &= of subaerial stem ?
(2) e (1) Onion
3) W (2) Ginger
A (3) Strawberry
@) W : (4) Crocus
= 7 @+ W P FE@er & Fofor % 54. Which of the following is the chain
YRS &1 6 FAE 7 initiator codon ? ’
(1) UAA (1) UAA
e
(3) "AUG
(4) UAG 4) UAG
TR S I 8T & 55. Cloud formation takes place in
(1) VIR i (1) Stratosphere
) m (2) Troposphere
3 ekt '(3) Mesosphere ‘
E 4; e ' i (4) Thermosphere
f/9 9 ¢ &9 @ SH &y e theed 56. Which one of the following genotypes
fasm & fuwe ? refers to Klinfelter’s syndrome ?
1) XXY 2) X0 (1) XXY 2) XO
(3) YO 4 XYy 3) YO 4) XYY
e fefoam sufterd g & 57. The enzyme trypsin is present in
(1) 3RS ™ (1) gastric juice
(2) 3r=TITas @ H (2) pancreatic juice
(3) ®@RH (3) saliva
| @) st (4) intestinal juice
- & Group-E



58.

59.

60.

61.

62.

63.

1 5 0 09 ey e i 9
(1) wm .

2) ¥ (%)

(3) iEe s

(4) w2

(1) Frfim
(2) Y EH
(3) sy
(4) " T

Hifere o & 5 dqett =
o fe1e o ciqeit =i wnfad
ey
(2)
3)
4)

TR g
STV
oAy
TSI T

« W AT W YA T HIOTHIST S e

F T E
(1) 500
2) 100
(3) 5,000
4) 50,000

Aferedt o Tt St B  :
(1) EHmefe

(2) wEtE

(3) ¥

(4) TegEA

oAl T U § GeTaS Bl &
(1) #RITT
(2)5.%@%%1:{

(3) 2,49

(4) el

Gr@up-E
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59.

60.

6l.

62.

63.

(1)

Which ol the following is not a [ibre of
plant origin

(1) Silk

(2) Flax

(3) Coir

(4) Hemp

Auxins are
(1)
)
3)
(4)

Vitamins
Plant Hormones
Animal Hormones

Enzymes

These organise spindle fibres for cell
devision :

Centriole
Chromatid
Centromere

(2)
3)
(4) . Cellsap

The total count of WBC in healthy
humans is around

(1) 500 o
2) 100

(3) 5,000

(4) 50,000

Muscles are rich.in
(1)
2)
3)
4)

Haemoglobin
Myosin
Starch
Albumin

Which of the following helps in
ripening the fruits ?

(1) LAA.

(2) Gibberellin

(3) 2,4-D

(4) Ethylene



64.

6S.

66.

67.

68.

69.

TS U S §
(1) TG H
(2) HeiRT A
(3) s
4 =i

Reriifie @ A §
(1) IR

(2 7=

(3) TEHEAR

@) THISRTE

s i ear e

(1) ovsREd

(2) wSUEd

3) ¥

4) YHEEY

TS § 06
(1) faRkfEd=
@) 9

(3) fEEs
(4) RS

Preadid W] SRERI 1< 7@ T € 6
(1) dAgaH ‘

() AT d

(3) Uehedrm=eT §

(4) e

iy # waifue wE HieArRn &
(1) WERE=

() T

(3) THITEH T

(4) HAHEH
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64.

66.

67.

Pneumatophores are found in
(1)  Rhizophora

(2) Mangifera

(3) Rosa

(4) Musa
Sphygmomanometer measures
(1) Blood pressurc

(2) Pulse rate

(3) Rate of heart beat

: (4) None of these

Seed develops from
(1) Ovary

(2) Ovule

(3) Embryo

(4) Embryo-sac

Adenine is a

(L) Pyrimidine

>(2)_ Purine
. (3) Nucleoside

(4) Nucleotide

Triploblastic but acoelomate animals
are kept in the phylum

(1) Coelenterata

(2) Platyhelminthes
(3) Aschelminthes .
(4) Annelida

The maximally stable pesticide in soil
is s

(1) Parathion

(2) Aldrin

(3) Gama HCH

(4) Malathion

Group-E




70. W%%ﬁqmmmﬁ

70. Mendel’s second law is the law of

LI < MR O (1) Independent assortment
(2) gy : .
(2)  Scgregation
v (3) . (3) Dominance
) gl Sy (4)  Polygene inheritance
71. ﬁmﬂ’@m‘t%? 71.  Which is the correct pairing 7
(D ﬁw‘m (1)  Sericulture — fish
@) R - e (2)  Apiculture - silk moth
(3) e - TR} " (3) Apiculture - honey'bee
(@) RipeR - (4)  Pisciculture — birds
72. SRR IR rertamar & 9 72. Blood is composed of
(1) =T 9 By " (1) Plasima and Corpuscles
(2) AT AT SRRy : (2) Plasma and RBCs
(3)‘ Wa@ﬁm - (3) Plasma and WBCs
(4) HAES FI (4) Colloidal Particles
73. ARdsh o I frad Bt & 2 . 73. Brain originatéé from
(1) ureten : (1) Endoderm
2) vy (2) Mesoderm »
(3) u=ieH 7 (3) Ectoderm
(4) UHI-UdeH : . (4) Ecto-mesoderm
74, U R A R AT H FRH & : 74. The ‘Red rust of tea’ is caused by a
(1) fermmg A - (1) Virus
Q) = T < @) Algae
(3) Shemp v " (3) Bacterium
(4) Hdh ' (4) Fungus.
75. 37 Ao IR et & 75.  Bone marrow is-absent in
(1) umifemr (1) Amphibia
() I&fad (2) Reptilia
(3) w9 : (3) Fishes
(4) e (4) Birds

Group-E » 15



gfvrt & i @ 1 @1 B et § 76. Loss of water from the tip of the leaves

(1) faE is called
(2) SIS (1)  Guttation
3 ' (2) Transpiration ,
iy (3) Respiration
@ b o (4) Evaporation
S T IS A1 & 77.  Scientific name of man is
(1) g wfafeuf (1) Canis familiaris
(2) e efafor (2) Homo habilis
(3) T RFH , (3) " Homo erectus
(4) e Aftey (4) Homo sapiens
T ferTo] ST O e  HeHf He 78. A virus infecting a bacterium is
FeAAME - ‘
. ' i (1) ‘Plasmid
(1) wifee |
) g (2) Bacteriophage
@) amdua : (3) Bacterial DNA
(4) T“ﬁaT”I IRTAT (4) Bacterial RNA
Vet o 31ega i el Tl & 79, Study of Algae is called
(1) st | ' (1) Pomology
(2) gl (2) Ecology
(3) RIS i 2 - (3) Phycology
(4) WEEES (4) Mycology
I | Hiferehi oo foeetl § REE W 80, Which organelle is not delimited by
e 2 ) Plasma membrane ?
1) | (1) Ribosomes
@ ' ' (2) Lysosomes
i 2% | (3) Golgi body
® (4) Mitochondria
- : ] Group-E
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81.

82.

- 83.

84.

8s.

$6.

LESIEICAStE TR O SR
(1) - 3TFEIHRS FERIRAHOT
(2) eI HYErwor

(3) WM Hyew -

(4) o HEATOT

forffiaa e afe:ame U 1 SR :
(1) wEedfr (2 TG

@) dquir @) TR
Tz Ty et SRt Bt €
() wHEITD

(3) T

(4) <3
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81.

82.

83.

84.

8S.

86.

In

the human beings, the

nitrogenous wastg is

(1)
(3).

Ammonia © (2)  Urea

Uric acid (4)  Guanine

In eukdryotes, glycolysis operates in

(1)
(2)
3)
(4)

The

Cytoplasm
Endoplasmic reticulum
Golgi bodies

Mitochondrion

major structural component of

fungal cell walls is

(1)
)
©)
4)

chitin
glycogen
Starch

Cellulose

Ribosomes are site for

(1) Oxidati\{e Phosphorylation

(2) Photosynthesis

(3) Protein synthesis

(4) Fat synthesis

The following is an' example of
exocrine gland :

(1)  Thyroid " (2) Adrenal
(3) Pituitary (4) Salivary
The mast cells are present in

(1) Areolar tissue

(2) . -Adipose tissue

(3) Tendon

(4). Cartilage



87.

88.

89.

90.

91.

92.

93.

T A & S # T R (Fag) A g
e 3R e AT WA R |

(1) et (2) e
(3) TR 4) W
(1) SR

Q) R

(3) NI |

4) W

 Siqall #§ TaEH & & g’ IRR A GRY
TR WAL ‘

(1) | 2) woe
(3) #e® 4) W
I 254 I U9NeR FeeTE |

(1) udtseA

(2) udtawd

(3) Tt

4) . TETe

T O 1 T 3 gfie T A |
(1) =T (2) W
(3) @K (4) fouma
fﬁwmémamﬁ@ﬁﬁ@rﬁ
g1 ,

(1) W

@ W

(3) A (AErT)

4)  FrgeEts

3 STt fitorest € |

(1) 7=

(2) s

-(3) oanfee

(4) I
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87.

88.

89.'

90.

91.

92.

93.

(1)

In this class of animals, hump contains

the main digestive &  circulatory
organs.

(1)  Arthropoda (2)  Annelida
(3) Porifera (4) Mollusca

The enzyme pepsin is present in

(1)  Gastric juice
(2) Saliva

(3)  Pancreatic juice
(4) Intestinal juice

In these animals, all respiration occurs
through the skin over the entire body
surface.

(1) Earthworms  (2)

(3) Frogs (4)

This is called the pacemaker of the
heart.

Fish

Insects

(1) AV bundle

(2) AV valve

(3) SAnode

(4) ' AV node

These do not poééess colour vision.
‘(I) Turtles (2) Sharks
(3) Apes (4) Lizards

These land plants resemble amphibians
with respect to requirement of external
water for sexual reproduction.

Conifers
(2) Ferns
(3) Gymnosperms
(4) - Angiosperms

These angiosperms are dicots.

(1)  Sugarcane

(2) = Palms

(3)  Orchids

(4) Pulses :

Group-E



94. T TE B BT et ) A
(1) U™ A
) b 4) ¥y
(e e @) i
). @
96. mﬁﬁwwwwﬁ
TET T AT
() T @ e
() Hege () T
97. mW%qﬁmW§o T
¥ -
(1) CO- ) Co,
6) HO @) o
98. INAMSHI % SR Heh T8 g7 vaud
PATE |
(1) STel T
2) THS
(3) = _
(4) T TAGS T BHS
99, ﬁﬂ?frgm%ﬂwwa% TR ?
(1) ufrgmair
2) goTE
(3) sifgerr St
@ SHgesr St
100. Wwﬁqﬁﬂ#@ﬁﬁﬁmﬂmﬁﬁ%?
(1) - Al
2) AN
(3) el
@) wEAfEE, e F
e ,
Group-E
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94,

95.

96.

97.

98.

99.

100.

This crop requires low inputs of water,

(1) Rice (2) Tomato

(3) Coconut (4)  Sorghum
The following is involved in
mastication of food in a grasshopper :
(1) Gizzard (2) Colon

(3) Pharynx (4) Ileum

In human, the following enzyme is not
present in pancreatic juice :

(1) Trypsin (2) Lipase

- (3) Cellulase ‘(4) Amylase
0, released during. phot\osynthesis
comes from
() CO @) CO,
3) HO (4) Glucose

During hibcrnation, frog respires by
(1)
2)
3)
(4)

External gills

Lungs

Skin

External gills and Luhgs

Trimerous flowers are characteristic of

(1) Allium cepa

2) Sunﬂow’er

(3) Brassica spp.

(4)  Cassia spp.

Photorespiration involves

(1) Mitochondria

(2) Chloroplasts

(3) Peroxisomes

(4) Mitochondria, Chloropfasts and

Peroxisomes
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MATHEMATICS

Those students who have already attempted Biology Section should nqi
attempt this section.

This section is essential for those students who want to attempt
Mathematics Section.

There are separate blocks' on OMR sheet provided for Biology and
Mathematics. Please fill the Mathematics block with HB pencil and then

attempt the questions.

20 g ' ‘Group-E



Qug-1|

SECTION-II

RG]

(4) becotacot B

5.9 A =(2,3,5,,B=15 6,

53.

M.

5.

(A-B)x (ANB)®T oMt
(1) 43:2),3,3):3;5))
@) {3,2),3,5),3,6)}
B) {(3,2),(3.5)

4 Y HE T

a1, (Z%) =k, 5 k & 33 9 3@

(1) W@
(3) WIed

(2) <
(4) FFfaREeE

V2. x4 x18 . X6 o T IMATE -

1) 0 2 1.
3) «x 4) o

n =ikt 3 @ n S A e R
fernfoter fema <11 GohelT € 2

2n) !
) S

(2n)!
3 2yl

(2n) !
) 2nnn!

4) *C,

Group-E

S1.

32.

33,

54.

3S.

A tower subtends an angle o at a point
A in the plane of its base and the angle
of depression of the foot of the tower at
a point b metre just above A is 3. Then.
height of the tower is

(1) btanoatanf

(2) bceotatanf

(3) btanacotf

(4 beotacotP

If A= {2 3,5}, B={2.5.6}. then
(A-B)x (ANB)isequal to

(1) {G,2),(3,3), 3}

@) {3.2),6,5.6.6)

(3) {63.2).6,9)

(4) none of these

The curve represented by I (Z%) =k,

where k is a non-zero real number, is
a/an '

(1) straightline  (2) ellipse

(3) parabola (4) hyperbola
xU2 . M4 18 1116 1o 0 is equal
to

(1 0 (2). &1

3) x 4). o

In how many ways can 2n people be
divided into n couples ?

(2n) ! (2n)!
(l) n! (2) 2n n!
2n) ! 5
3 Ly @) . "
+



56.

57

58.

59.

60.

61.

M (2, 4), (2, 6) T (2 + 43, 5) &=
ER TR

(1) wESN

(2) wHfEETg

(3) wHfIaTg

(4) fw Foig

lim  sin4x

x—0 1_‘\’1 -X Wm%

(1) 4 2 8

.3 10 4 1

i fagett % Rarfr wfewr 2 -2b +37¢,
22 +3b-43 3R ~7b+10¢ ¥ 1 3
fag

(1) TH@EE

(2) IEHAE™

(3) TS W R T
(4) THIFRTE

T ¥ % <1 fereuit & s o &
(1) 30° (2) 45°

(4) cos™! ( %)

aE T e ae § fafa 2 S E T

(3) 90°

A Y ITGehar 47 ¢ foh T8t & ot /T
TS E?
110 (210 9 ()0
(D —9—(5) (2) 1*1—0(3)
l2c3 12C3
3 132 @ 32

m2n  3n 3
c0s 7 €08 = cos &~ FIHM

1
@ -3
@ 0

(1)
€)

— 00—

56.

i

58.

59.

60.

61.

22

The triangle with vertices at (2, 4),
(2,6)and (2 +~/3, 5) is

(1) right angled

(2) isosceles

(3) equilateral

(4) obtuse angled

lim _ sindx

500 WlT—x is equal to
(I 4 2 8
(3) 10 4) 1

Three points have position vectors
2-2b+3¢,28+3b-4¢

e ;
and —7b + 10 c. These points are
(1). collinear

(2) non-coplanar
(3) non-collinear

(4) -none of these

The angle between two diagonals of a

" cube is
(1) 30° ] (2) 45°
]
(3) 90° 4) cos"(g)

Twelve balls are »distributed among
three boxes. The probability that the
first box contains 3 balls is

D %(%)10 (.2) %(%)IO

12
123 ) 3 12
2 3
The value of cos % cos _7_7r cos 7n; is
1 1
(1) 3 2
@3) 1 4 0
Group-E

s



62, ?6x—2=3y+

63.

04.

6S.

-3

i ]
m FoFe
V‘V‘
1

———

V142 Jﬁ.vz

1,2,3

)
€)

@) 2o I
V14" g\

(1,0, 0), (0, 1, g) 0, 0, 1 '

» (0,0, 1) fa=at o
Waﬁﬁéaﬂm’a}gim@
FH T B g 8

(1)
)
3)
(4)

3()‘2*'}’ZJFZZ)—Z(x+y+Z)+1=()

x2+y2+22_x_y_z+1=0.

' Ax—-B
s ®e T f(x) = { 3x 1<x<2
Bx2 - x22
x=1WW%3ﬁTx=2WRﬁﬁTEﬁ%,
LEl

(1)

x<1

A=3+B,B#3
2) A=3+B,B=3
(3) A=3+B

@) FTHIRETE

a%y=logx%

(1) e SR 3K
(2) Iael TR H W
s A A 3

(@) IO AR I

Group-E

1=22\2¢ﬁ$ﬁm _

62,

63.

64.

6S.

23

The direction cosines of the line
6x-2=3y+1=2z-2are

iy L
NERRVENE

@) 1 2 3
AN

3) 1,2.3

3 2 1
NN

The equation of a sphere which passes

‘through the points (1, 0, 0), (0,1, 0),

(0, 0, 1) and having radius as small as .
possible, is

M
@
®)
@)

302 +y2+22) -2 +y+2)—1=0
X2+y?+z2-x-y-z-1=0
32 +y*+28)-2x+y+2)+1=0

X2+y2+z2-x—-y-z+1=0.

If the function
Ax-B x<1

1'<x<2

Bx2-A x22

be continuous at x = 1

discontinuous at x = 2, then

(1) A=3+B,B=3

2 A=3+B,B=3

3) A=3+B

(4) none of these

flx) =

and

The curve y =logxis 3
(1)
@)
3).
4)

concave upward
convex upward
concave downward

convex downward



66. % pr = a® W (p, 1) fag & fog awwen - 66,

freard
M @ 3
3 3
G) 3 O
67. Uﬁﬂn)=lll[(n+l)(n+2)(n+3) ....... 67.
(m+n)]'", o« “li_’:]m fln) FAFE
.1
(1 e @ 3
2 4
@) 5 @ 3
1 x xy ;
8. f j J-dzdyd.x FHAE o
L 2 g ' '
1
(1) 1 )
1 1
@ 3 @ 37

69. WEdH I’ JTet ¥, R o a F e 69.

F siaffed forar s o, B SR
M 32 @ ra
©) %a 4 2a
70. aaam:ﬁuqqzﬁm , 0
oL 1+ (2V]" drater
(1 1 Q) —;—
B 2 4) 3

24 |

=alis
(p, 1) on the curve pr=a° 13

The radius of curvature at the point

r r

(M a 2) 2
' 3

. r

@ 5 4 2

Iff(n)=% (h+1)(n+2)(n+3) ...

(n+ n)]"m, then nh_l?% f(n) is equal to
|
(1) e @ =
2 4
3) 3 @5

1 x xy
J J J dz dy dx is equal to
i -0 : |

1
1 1 @) 3
,1 l

The cone of the greatest volume that
can be inscribed in a sphere of radius a
has an altitude.

1

W[
o

a (2)

)

"]

4) 2a

Kl DWW

The degree of differential equation
dy 5 dy 232
Pz = {1'*(&%) is
(1) 1 e
(3) 2 4)

W N|Ww

Group-E



71.

72.

1. .

4.

5.

76.

Group-E

2x, +5x2~3x3=3
x|“2x2-+ X
7-\'1+4x2
& &l o e
(1) 1
@3 3

3=
"3.\‘3=12

@ 2

@) s
B f(x) = 5
sfuFa O

(1) -8
3) 6

“-"*mew

2) 8
4 s

qﬁgﬁwax2+bx+c=
BE T o + B3 Frmm
3abc — a3

(1) Ta—
3abe - b3
— 3
abc — 3a3

33
a2b2c? — 3p3

“4) 3

a

OéFTEW(xaﬂT

)

3)

10
y . 2nm . 2nm
(sm ] —icos )WHF{%

n=1 _II_
(1) -1 2y 0
@B) -i @ i

o A Ty y = 13K
x+y+z=0TRISH & | TH STGeA Fl
g?

1) 1
3 9

@ 4

4
@ 3
x2—2pxy+y2=0@ﬂﬁ?ff“1'a‘i'@3ﬁﬂ?
AT FHOE

(1) tan”' (£P)
(3) cot! (£Pp)

sec”! (£p)

@)
4)

cosec™! (£ p)

- 28

71.

7.

73.

74.

75,

76.

2%, + 5xy= 3%y = 3
X =2xy+ X =2
Tx, + dxy = Ixy = 12
has number of solutions
() 1 (2) 2
3 3 (4) infinity

The greatest value assumed by the
function

f(x)=5-|x~3|1s
( 3 2) 8
(3) 6 4 5

If o and P are the roots of the equation
ax? + bx + ¢ = 0 then value of o + p’
is

3abc — a
(1)' b3

3abc — b3
(2) 3

a

abc — 3a3
3b>

a?bZc? — 3b°

(4) 3

a

€)

The, value of

Sin 11 —1COS 11 1S

n=1.

% s e s e

“Two sides of a square lie on the lines

x+y=landx+y+z=0. Whatisits

.area ?
(I 1 2) 4
9
3) 9 @ 3
The angle between the lines
represented by x2 —2 pxy + y2 =0 s
(1) tan'(tp) (2) sec! (#p)
(3) cot!'(xp) (@) cosec! (xp)
<+



77,

78.

™

80.

81.

82.

83.

WA y? — 4y — 8x + 4 = () & HHJ ¢
(H (D @ (1,2)
3 @1 @ (2,2
TS HGATHR HATETT ) Il §
) 2 Q) 2
3 0 @ 1
ok [3|=|b|=[2 +b|=1, T |2 - b]
HAAE
(1 1 (@)
3) B @) 2
>2 (sin®x + cos®) — 3 (sin*x + cos*x) +i
AL |
1) 2 @ 1

1
G 3 4) =
@AABCﬁ,Hﬁ'acosA:bcosB,ﬁa
(1) ATECEEE |
(2) A TR E A TR ¢ |
(3) a=2b
(4) atb=c
o A 3R B FE 3 @ a1t o @
 UFR & & det A =1 dar det B =3
det 3AB) =X &
1 -9 ..r27:
(3) -81 (4) 81
s i & e

A+y+z=1

x+tAhy+z=>L

x+y+}‘,z=)\,3
1 IS & A6 & G A TR §
(1 -2 (2) 1
-3 0 @ 1

26

7.

81.

82.

83."

The focus of parabola y2 - dy~8xt4=0

1S

(‘1) (I, 1) 2) (1,2

3 @n @ (2.2
The eccentricity of the rectangular
hyperbola is

(1) 2 @ 2

3 0 (4) |

If [a]= |—t;| =|a + —6| =1, then [d - b
is equal to

1y 1 2 2

‘@3 @ 2

: : 4
2 (sm6x + cos®x) - 3 (sm4x +cos'x)+ 1
is equal to .

1y 2 ()5 %]
(3)_% (4)  Zero

In A ABC, if a cos A =b cos B. then
(1) the A is equilateral

- (2) the Ais isosceles or right angled

3) a=2b
(4) atb=c

If A and B are square matrices of order
3 such that det A = -1 and det B = 3,
then det (3AB) is equal to

(1) 9 2) 27

: (3) ' -81 4) 81

‘The system of linear equations

M+y+z=1

x+Ay+z=2A

x+ty+iz=2\3
does not have a solution if A is equal'to
(1 =2 2 -1

3) 0 4 1

Group-E
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& U o r

, B}('Fﬁ(rwtl)zq?”ﬂ?%

be
£ 5 vy ca

a ) Yy

ca
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[f roots of the equation
axZ+bx+c=0
are in the ratio r ¢ 1, then the value of
ro
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If x = 3 + i, then the value of the

expression x? — 3x2 — 8x + 15 is
(1) 15 2 -l
3 3 4 8

If w is an imaginary cube root of
unity, then.the common roots of the
equations z> + 2z2 + 2z + 1 = 0 and
71985 + 7100 + 1 =0 are

1 lLiw

2) w,w

3) 1,w?

(4) none of the above

In a finite group having. 15 elements the
number of elements which are their
OWn inverses 1s

(1), 5
) 3
(3): 1

' (4) none of the above

Consider the following two statements
for four non-empty sets A, B, Cand D

. (ANB)x(CAD)=(AxD)yn(BxC)
[I.(AUB)x (CuUD)=(AxC)uU(BxD) *
then

(1) both I and II are correct.
(2) lis correct, but II is not correct.
(3) IIis correct, but I is not correct.

(4) both I and II are incorrect.
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If the roots of the equation

. 2 —2ax + a2 +a -3 =0 are real and

less than 3, then
(1)
(2)
3)
(4)

a<?2
2<ac<3
j<a<i4g

a>4

From the matrix equation AB = AC, we
can conclude B = C provided

(1)

o e

A is singular
A is non-singular
3)

A is symmetric

A is square

A root of the equation

R

QFgiad 2
x+a 0 x—¢ |=01is
x+b ke S0 - .
(1)::~0
@ 1
3) a+.b.+c
'(4) abc
The angle between the lines
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The differential equation y jutx=a

(4 is any constant) represents
(1) a set of circles having centre on
the y-axis
(2) a set ofscircles having centre on
the x-axis
(3) asctofellipses
(4) aset of parabolas
The lines T=a+A\ (B’ x¢) and
T=b+ 0 (E) x Z) will intersect if
(1) axc=bx c
2) a-c=b-<
(3) bxa=cxa
4 b-a=c¢-a
‘ If the letters of the word
‘REGULATION’ be arranged at
random, the probability that there will
be exactly 4-letters between R and E is
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